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1. (@) <@ 52 9@ gy 1x4=4
Fill in the blanks :

(i) wﬁ,ﬂa@ﬂﬁ@gﬁ

ﬁﬁﬁﬂaﬂﬁﬁﬂ%g«a
T |

means a person by whom any
tax or any other sum of money is
Payable under the Income-tax Act.
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(b) 51 1 famy foray
Write True or False :

8P/742

(2)

(i) ST wAFe $fq /1 @@ wwm

(iti)

(iv)

)

(it)

ST WA 4RT 10(1) WP e

IEE |

income from land situated in

India is fully exempted under

Section 10(1) of the Income-tax Act.
SR tzre wbRels o7l e

ffg |

Provident Fund is the oldest
type of fund.

T [ @R WA = o =E
IRE T - g 7 emsfe Peffre
AR |

House Property Income = Annual

Value of Building - Specified
Deductions u/s

.

FICR P GRA SR_S T4 KA F40
EXN

Tax is lavied on total income of
assessee.

EPZ-3 ™ 5 =" Export
Promotion Zone.

The full form of EPZ is Export
Promotion Zone.

( Continued )

1x4=4

(3)

(iti) ¥ STTR 6 (R T 4 FICIN A0 |
House rent allowance is a fully
taxable allowance. r

(iv) 9FS SIvl (3R OOl o R @1
T3 SISORR [ 2FeS A% I |
Actual rent is the rent which is
actually received by the owner of
the house from the tenant.

2. vy @ forn (R e wifabr) - 4x4=16
Write short notes on (any foun :
(a ¥3H
Assessment Year
(b) TR R
Ordinary Resident
(c) Rom aRafes swea
Special Economic Zone
(@ st e
Education Allowance
(e) CTR A
Municipal Valuation
8P/742 ( Turn Over )




(4)

3. (@) SRSIT UEFE O e[S 9Bl GRI
Ell

Write a note on history of incone tax in
India.

w%q1/ Or

(b) SR B3 e@e fRfe IR Famereem
fRfen sererz TEy 3901 9u I HF 9O
*fvra st R ot @rma fAdRa
312

Mention the different categories of
assessees according to their residential
status. How would you determine the
residential status of an individual and a
firm?

1961 54 SRFE HiZ4 10 4_1® TrEy o4 &

IEAl 5401 FAYS SPHEE R sqLF
0|

4. (a)

Explain in brief any fourteen incomes
which are exempted u/s 10 of the
Income-tax Act, 1961.

8P/742

14

4+10=14

14

( Continued )

(5)

931/ Or

(b) EEFA A, 1961 wEmM Row SR
weEe ApAd TS @R AP cwae
ofcarEy RO™ TEPTR Sl 341 |
Enumerate the special provisions in
respect of newly established units in

Special Economic Zone as per the
Income-tax Act, 1961.

. X 3 (PR 15 9R) 7o @A 9o
TR | (08 e AN R A S So
Mr. X is an employee of Ranchi
(population 15 lakhs) based company.
He provides the following particulars of
his salary income :

(i) ¥ az—ef® 91z 12,000 53
Basic salary— 12,000 per month

5. (a)

(i) ¥TS @MB—12,000 531
Profit bonus—¢ 12,000

(i) . X3 7@ & 7vs TAffe @ERE
89{S 7@—42,000 591

Commission on turnover achieved
by Mr. X—¥ 42,000

8P/ 742

14
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(6)

(iv) AT q6—2ifS A2 2,000 B

(v)

(vi)

(vii)

Entertainment allowance—¢ 2,000
per month

#1 7R41—6,000 B
Club facility—& 6,000

59 qe—afS W1ez 1,800 53

Transport allowance—¢ 1,800 per
month

16 foReE @R W MO
Eeircie B0 CRIRCL T o ()
FRE[; AeRE @[ WA {97 32 A
|

Free use of car of more than
1-6 litre capacity for both personal
and employment purposes;
expenses are met by employer

RERSR [ STOfRRA T I, qS
ool fceRdR T[S m—afe
W72 6,000 53

Rent-free house provided by

employer; lease rent paid by
employer—& 6,000 per month

( Continued )

(b)

8P/742

(ix)

)

(7)

g Free e e R
Aq-EEaR i (Fanede T
fe 2@e $91 28)—22,500 531

Free education facility for three
children of the employee (bills

issued in the name of employer)—
¥ 22,500

(o1, AR SF Rged R FHREE TS
e s RERdE o Repmz T
fizs—16,800 B

Gas, water and electricity bills

issued in the name of the employee
but paid by employer—¢ 16,800

ﬂﬁuj@u@ﬁﬂ%%ﬁﬁﬂ

2017-18-3 A3 Ay 41 | 14
Compute income under the head salary
for the Assessment Year, 2017-18.
<1/ Or
1961 5@ WRFA Wiz P e R
S AT 90 3%4x4=14
Explain in brief the following items as
per the Income-tax Act, 1961 :
(i) T2 “fRacS s
Profits in lieu of salary
( Turn Over )




(8)

i) M N SRYER
Recognized Provident Fund

(i) AN I

Dearness allowance

(iv) 3f6F o 4TS FeEaFad

Leave encashment

6. (a) MRE YA K@ 71 | W @R e

(b)

8P/742

F W ? P-TE o[@T o e .y ey
¥R @ WA I TR oA W f o

e B o 2+7+5=14

Define annual value. How is it
determined? What dedudctions are
allowed from the annual value in
computing taxable income from house
property?

941/ Or

. A @IfoTe @1 @b z-afes wfe | @2
00! OB Fog Bfse R R wee @3
TR DA WIS 437 27

Mr. A owns a house property in Cochin.
It consists of three independent units
and information about the property is
given below :

3TfA0—1 : freq I A7 BICEOC)
Unit—1 : Own residence

( Continued )

(9)

BTAG—2 : SrerS =

Unit—2 : Let out

TfAB—3 : e IR U@ TeTS
Unit—3 : Own business

T S99 ToH—a=fd 1,20,000 531
Municipal rental value—® 1,20,000 p.a.

T SIE1TS Je—2=f 1,32,000 53
Fair rental value—¢ 1,32,000 p.a.

TF4S S[Ee—a%fd 1,08,000 531
Standard rent—¢ 1,08,000 p.a.

S STe—aifS Tz 3,500 G
Actual rent—¥ 3,500 per month

SRR SIS w51 A
Unrealized rent—For three months

(IAfS—10,000 531
Repairs—T 10,000

FAT—2,000 51

Insurance—¢ 2,000

T2-77fRCH1 el 493 20T RN 4 <o o —
96,000 531

Interest on money borrowed for the construc-
tion of house property—& 96,000
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{ 10 ) ( 11 )
CTR F3—14,400 B3] ( Old Course )
Municipal taxes—¢& 14,400
et R 3reyef o @ife—o01.11.2011 ﬁmﬁwﬂu.mmw
Date of completion of construction—01.11.2011 :
1. " :
auuaggaudymaﬁunuzdmwdammaﬁzﬁsﬂzzma 4 SR Ty

Fill in the blanks :

4+6+4=14 .
(i)

Calculate total income or loss under the

head house property.

(ii)

(iti)

(iv)

( Continued ) 8P/742

SRS (AW e 3ok
PR T4 SRS I 4T
41 C2feE |

The income tax was introduced in

India for the first time in by
British rulers.

T WX 4@ 10(10) _ q wore
TS |

Section 10(10) of the Income-tax
Act relates to

e g W WR 3 qmare
FIE90 |

Advance salary received shall be
taxable in the year of its

RS 32 91 T YT IS
IR GBI & Bo1ee 1y FfR9 w7 |

Cost of improvement incurred after
is to be treated as part of the

cost.

( Turn Over )
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(b)

8P/742

(12

51 ¢ fagy foa

Write True or False :

1x4=4

(i) 9B @A ARG S-SRI 7S
Teoirersl IR GIRIE |

A company cannot enjoy the status
of not ordinary resident.

(i) PR I I W AR A Tegfes
e 4 39 IRg© |
The full amount of scholarship

granted to meet the cost of
education is exempted from tax.

(i) FIH 2 = 2 g @ -

LCIGERC

Taxable gratuity = Gratuity received
— Arrear

(iv) @b *R-Tfeq AT Fop P =R
W2q 32 YRR A SR 90 |
The annual value of a house
property is to be determined

according to the provisions of
Section 32 of the Income-tax Act.

( Continued )

(13)

2. fufifie Rerym ew@e R @ w6l 55 G

faran 4x4=16
Write short notes on any four of the
following :

(@) 9 fidEe

(b)

(c)

(@)

(e)

3. (a)

8P/742

Assessment Year

¥4 3

Tax Holiday

Tz Soafe Sigi

Perquisites

3-Sfige ife

Self-occupied Property

Al S
Capital Gain

SRFE A 37 SRoRfc SRS CAPRPTZ
ez o 2+10=12
What is income tax? Discuss the
features of income tax in India.
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(b)

4. (a)

(b)

5. (a)

8P/742

(14 )

5241/ Or

ORI @ e SR By evqe
%3 303 1”? @3 S I3 w4 12

“The incidence of income tax depends
upon the residential status of an
assessee.” Explain this statement in
detail.

e N e B @2 wWmew @
TofefeId I wearl oE A fan i 3+8=11

What do you mean by tax-free income?
Give ten examples of income which are
totally exempted from income tax.

%%q1/ Or
©TS fAPTEa A 7S @
Explain the following :
(i) Rom weftafes s
Special Economic Zone

(ii) §% Afifegs Swe
Free Trade Zone

S¥%+5%=11

1961 54 SR HiZq 441 88-7 HBsf© A1
9 (2R eF 9l fige Gre o | 11
Write a detailed note on rebate of tax

under Section 88 of the Income-tax Act,
1961.

( Continued )

8P/742

(15 )

¥4/ Or

(b) oS ST o[ . X3 2017-18 99
4 Mw vz ey 7941
From the particulars given below,
compute the gross salary of Mr. X for
the Assessment Year, 2017-18 :

(i) T@E—1,48,000 5%
Salary— 1,48,000

(i) @WB—12,000 5%
Bonus—¢ 12,000

i) Rerda  cm, Rge, AW, e
(@ a@ oS Re wwm  fn
2)—6,000 531
Free gas, electricity, water, etc.
(actual bills paid by company)—
¥ 6,000

(iv) FHRGTF FA[S GOl BITS GFHI
ey IR oW (25 ARes wfie
GPRAA ) WF WA APS [l
@mAIAIoICa s 3—78,000 53

Furnished flat provided to the
employee at Kanpur (population
above 25 lakhs) for which actual
rent paid by the company—
¥ 78,000

11
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(17 )

property which consists of two
independent units having ird and 2rd
area :

6. (a)

(b)

8P/742

employee Pays rent @
1,000 P.m. to the company

cost  (including
television, fridge and air-condi-
tioner)—¢& 50,000

State the Provisions relating to
Computation of Income from House
Property’ under different Categories of
house Property as per the Income-tax
Act, 1961,

aﬁﬂﬁ@wﬂ%ﬂﬂé«ﬂ.%
1 S S AR ety e -

From the particulars
compute the income

given below,
from house

11

11

( Continued )
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P @1 @IR4—01.11.201

Date of completion of work—01.11.2011

¢ STS19TS 37—96, 000 By

Municipal rental value—¥ 96,000

TR STEI5TS e1—84,000 B3y
Fair rental value—¥ 84,000

a-ﬂmﬁﬁﬂlm

Self-occupied voaon’w

Qﬁa@ﬁﬂﬂ’w
1

Let-out voaoalm

R 3 (3=R)—6,000 537

Municipal taxes (per annum)—¢ 6,000

R 1 e (33)—2,000 51

Fire insurance premium (per annum)—~ 2,000

%A1 Sy (3%3)—4,000 B3

Ground rent (per annum)—e 4,000

¥R S*[S —7,500 531
Interest on loan—% 7,500
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(18 )

7. (@) oS el SUPIE A9 L Y- S TP
o[ 2f1e ST e 4

Calculate the income from other sources
of Mr. Y from the information given
below :

B 7_T1 &1 ¥5—1,00,000 51
Winnings from lottery—¢ 1,00,000

o (M99 “[1 &1 ¥9—35,000 531

Winnings from horse race—
¥ 35,000

f35r® T 2016-17-9 2N1e TeREHE :

Qﬁm—.oon?nmazlbwgoUna&ocmvdmb
2016-17 : A

(i) 989 IFI o[ ToEE FWA AG |
20,000 541

Received ¥20,000 as gift from a
friend

(i) FICEAFA @ TR FWA 4% W
1,00,000 531

Received ¥ 1,00,000 as gift from
elder brother

(i) Feq fge  Topm FwA A9 =W
1,40,000 531
Received ¥ 1,40,000 as gift on his
marriage

11
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(19)

(iv) 01.01.2017 @Rty (O3 TR
TRON IR A T T A W
80,000 531

Received ¥ 80,000 as gift from his
NRI friend on 01.01.2017

(v) (DS IR A T GF ToEA FWA A1Y
=¥ 18,000 531

Another gift of ¥ 18,000 received
from his friend

%1/ Or

(b) TEER ST ew WA | WHFA WX, 1961-©
TrEd 3 AES TP LA S el w4
SAfSFRTCH! SICEATs 4 | 3+8=11
Define capital gain. Discuss the
procedure for computation of capital

gains as prescribed by the Income-tax
Act, 1961.

* & ok
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